
 
DEFENSIVE AND COMPETITIVE BIDDING 

OVERCALLS (Style, Responses, 1/2 Level, Reopening) 

normal  

level 1 8+ points; level 2 10+ points 

overcall invitational with fit or strong any 

after opponents overcall 1/1 and 3/1 forcing; 2/1 nonforcing 

 

 

1NT OVERCALL (2nd/4th Live, Responses, Reopening) 
15-18 in 4th hand 11-15 (16+ starting with X) 

Responses same as after 1NT opening 

 

 

 

JUMP OVERCALLS (Style, Responses, Unusual NT) 

weak jumps, less restricted in 3rd and 4th hand 

Ghestem 

 

 

DIRECT AND JUMP CUE BIDS (Style, Responses, Reop.) 

(1F) 2F = non adjacent suits; 2NT = unsual 

 

 

 

VS. NT (vs. Strong / Weak, Reopening, PH) 

against strong NT: DONT (x= long suit; 2F = F or higher; 2S=S) 

against weak NT: Multilandy (x= penalty; 2C=majors;  
2D = any long suit; 2M = two suiter with M) 

VS. PREEMPTS (Doubles, Cue-bids, Jumps, NT bids) 

t/o double, partner might pass at high level 

against leaping Michaels: 4NT = t/o two suits 

 

 

 

 

 

VS. ARTIFICIAL STRONG OPENINGS 

 

 

 

 

OVER OPPONENTS'  TAKEOUT DOUBLE 

XX after suit opening level 1 = 10+  

XX after opening 1NT = 9+ 

2NT after 1M (X) = invitational 

  

 
LEADS AND SIGNALS 

OPENING LEADS STYLE 

 Lead In Partner's Suit 

Suit _3/5 _3/5 

NT 2/4 (2 without honor) _3/5 

Subseq attitude attitude 

Other: high from doubleton 

 

LEADS 

Lead Vs. Suit Vs. NT 

Ace Ax AKx AKD/Bx Ax AKD(x) AKBx  

King AK Kx KDx KDBx KDB(x) KD10(x) Kx 

Queen Dx ADBx DBx DB10x ADB10x DB10x DB9x  

Jack Bx B10x  B109x B108x  

10 A/KB10x 10x 109x  A/KB10x 1098x 1097x 

 9 9x F109x  9x 8F109x  

Hi-x Xx FxXx FxxxX xXx(x) FxxX FxX Xx 

Lo-x FxX xxX FxxX FFxX xXxx 

SIGNALS IN ORDER OF PRIORITY 

 Partner's Lead Declarer's Lead Discarding 

 1 low = pos high = even Lavinthal 

Suit 2 high = even   

 3    

 1 low = pos high = even Lavinthal 

NT 2    

 3    

Signals (including Trumps): 

length when partner leads K 

Lavinthal when it makes sense 

 
DOUBLES 

TAKEOUT DOUBLES (Style, Responses, Reopening) 

t/o doubles 11+ good distribution, less restrictions 3rd hand 

 

 

 

SPECIAL, ARTIFICIAL AND COMPETITIVE (RE-)DOUBLES 

support X and XX (major only), negative double 

responsive double, competitive double  

reopening double 8+ 
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SYSTEM SUMMARY 

GENERAL APPROACH AND STYLE 

2/1 game forcing  

 

5card major 5533 

 

 

1NT Opening:  14+ - 17 non vul; 15-18 vul 

(sometimes 5card major, 6card minor, single high honor)  

2 over 1 Responses: game forcing 

SPECIAL BIDS THAT MAY REQUIRE DEFENCE 

1M – 1NT semiforcing  
 might have fit (weak or invitational) 

2♦ both majors below opening strength 

 

 

 

 

 

 

 

 

 

 

 

 

SPECIAL FORCING PASS SEQUENCES 

Example after double redouble 

 

 

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE 

short suit trial bid 

 

 

PSYCHICS 

rare 
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DESCRIPTION 

 
 

RESPONSES 

 
 

SUBSEQUENT AUCTION 

 
 

PASSED HAND BIDDING 

1   3  rule of 20 10(11) + normally inverted (FIT: 3 = preemptive; 2 = forciing) 3 / 2NT = Min, rest game forcing  

    up to semiforcing 1NT 8-10 natural   

     1M 6+ 4+ cards; 2M weak jump shift    

1   3  rule of 20 10(11) + normally 
up to semiforcing 

inverted (FIT: 3 = preemptive; 2= forciing) 
1NT 8-10 natural 

3 / 2NT = Min, rest game forcing  

     1M 6+ 4+ cards; 2M weak jump shift    

1   5  rule of 20 10(11) + normally 
up to semiforcing 

Bergen Raises  (3  preemptive ; 

3 weak invite 3 strong invite,  3SA= 4333 gf) 

after 2NT (3 sttrong ,3other  short, 3NT 13-15,  

4 Minimum)  

Drury after opening  3rd or 4th  
2C (2D = opening, 2M below) 

        

1   5  rule of 20 10(11) + normally 
up to semiforcing 

Bergen Raises  (3  preemptive ; 

3 weak invite 3 strong invite,  3SA= 4333 gf) 

after 2NT (3 sttrong ,3other  short, 3NT 13-15,  

4 Minimum)  

Drury after opening  3rd or 4th  
2C (2D = opening, 2M below) 

        

1 NT    14+-17 nonvul ; 15-18- vul 
almost balanced 
5M, 6m, single top possible 

2C = Stayman ; 2D/2H = Transfer to M ;  
Texas Transfer (4D/4H) gf no slam 

after transfer  to major (2SA = max.with good 3 cards  
3M 4 cards 15-16, 3other suit = 4 cards max, 2M 
normal)  

 

     2S=asks min/max  (might have long clubs)  
2SA = Transfer to diamond 

after transfer to minor: new suit = short 
 

 

2     min 19 in NT 22+ 2D 2H = hearts or balanced 24+ (forces partner to 2S)  

    major 8,5 minor 9,5 tricks    

        

2     both majors max 10 points 
4+/4+  

2/3M to play; 2NT forcing asks; 3C nat;  
3D= 3-3 in majors invite; 3NT/4M to play 

after 2NT:  
3C= min; 3D=5-5; 3M= max nat; 3NT= max 4-4 

 

2   (5)6  5- 9 (10)   2NT artificial asks, mostly strong ;  
raises  = preemptive 

after 2NT: 3M = Min, 3other = feature, 3NT max no feature, 
4other below M = shortness 

3rd hand might be not perfect 

       4th hand intermediate 10-13 

2   (5)6  5- 9 (10)   2NT artificial asks, mostly strong ;  
raises  = preemptive 

after 2NT: 3M = Min, 3other = feature, 3NT max no feature, 
4other below M = shortness 

3rd hand might be not perfect 

     new suit forcing  4th hand intermediate 10-13 

        

2 NT    20-21 (adjusted) 
balanced including 5card major 

3C=Puppet Stayman ; 3D/3H transfer to major ; 
3S=transfer to minor (poc) Texas Transfer (4D/4H) 

nach 3C : 3D= at least one 4card major; 3H/3S 5card major, 
3NT no major ; 4C both majors slam interested.   
4D both majors gf 

 

3   (6)7  5- 9 (10)    

3   (6)7  5- 9 (10)    

3   7  5- 9 (10)    

3   7  5- 9 (10)    

3 NT  7  solid minor  
no stops in side suits 

 HIGH LEVEL BIDDING 

4   8  5- 9 (10)  4NT opening = 5/6 minors 

4   8  5- 9 (10)  4NT RKCB 1430; 4minor Minorwood 1430 

4   8  min 5 might be stronger with passed partner mixed cue bids 

4   8  min 5 might be stronger with passed partner RIPO (double = 1 or 4, passe = 0 or 3) DIPO (redouble = 1 or 4 passe 0 or 3) 

 


